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TUTIONS

A beam 4m in length is simply supported at its ends and carries uniformly distributed
load of SKN/m over the entire length. Determine strain energy stored in the beam.
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Strain Energy due to bending, U = SEL M?2dx
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Strain energy due to bending , U = E f M?dx
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Result:

Strain Energy stored in the beam, U = 37.03 Nmor 37.03
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STRAIN ENERGY DUE TO SHEAR STRESS
Let

T = Shear Stress

& = Shear Strain
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Work done by shear force = Average load X distance / 7
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Strain energy stored = Work done by load
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Strain energy stored due to shear = ;—C XV
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